TASK A: Calculus
Pesho and Gosho don’t like regular calculus lectures, so instead of listening and understanding what is being said and taught, they do stupid things in class while the lecturer tries to teach them something useful. Both of them are lazy and don’t like handwriting the lecture, so they carry with their laptops and type the lecture into a file. Since Pesho and Gosho use plain ASCII encoding (they haven’t ever heard of TeX and LaTeX) they practically skip all the special math symbols which results in a file filled with small latin letters and nothing else (incidentally all their keyboard keys except the alphabetical ones were damaged during a beer-pour-over-keyboard accident). Since they don’t even try to understand the material, during the lecture they wonder what to do with the useless file. Pesho’s latest stupid idea is to count the number of occurrences of each letter in the file. Of course he doesn’t want to do it manually so he asks Gosho (that’s you) to write the program.
Input

The first line of the input contains the number K of tests. K lines follow, each one containing a string of small latin letters (no extra characters are used).

Output

For each test case in the input you should output all pairs (C, N) where C is a small latin letter and N is the number of occurrences, which have nonzero N. All pairs should be on a single line separated by single spaces, and the pairs should be sorted in ascending order of the Cs.
	Sample input
	Sample output

	2
muhaha

mississippi
	a 2 h 2 m 1 u 1

i 4 m 1 p 2 s 4


